At/ B8+ 4R 44

PPS/10

EHR

Part Number
0600010020040005
0600010020040006
0600010020040008
0600010020040010
0600010020040012
0600010020040016
0600010020040020
0600010030050004
0600010030050005
0600010030050006
0600010030050008
0600010030050010
0600010030050012
0600010030050016
0600010030050020
0600010030050025
0600010040070006
0600010040070008
0600010040070010
0600010040070012
0600010040070016
0600010040070020
0600010040070025
0600010040070030
0600010050080006
0600010050080008
0600010050080010
0600010050080012
0600010050080016
0600010050080020
0600010050080025
0600010050080030
0600010050080035
0600010050080040
0600010060100008
0600010060100010
0600010060100012
0600010060100016
0600010060100020
0600010060100025
0600010060100030
0600010060100040
0600010080125010
0600010080125012

R
M
M2x5
M2x6
M2x8
M2x10
M2x12
M2x16
M2x20
M3 x4
M3 x5
M3 x6
M3x8
M3x10
M3x12
M3x16
M3x20
M3x25
M4 x 6
M4 x 8
M4x10
M4x12
M4x16
M4 x20
M4 x 25
M4 x30
M5x6
M5x8
M5x10
M5x12
M5x16
M5x20
M5x25
M5x30
M5x35
M5x40
M6x8
M6x10
M6x12
M6x16
M6x20
M6x25
M6x30
M6x40
M8x10
M8x12

Size (mm)
DK K
3.65 1.2
3.65 12
3.65 1.2
3.65 1.2
3.65 1.2
3.65 1.2
3.65 1.2
5.35 1.65
5.35 1.65
5.35 1.65
5.35 1.65
5.35 1.65
5.35 1.65
5.35 1.65
5.35 1.65
5.35 1.65
8.22 2.7
8.22 2.7
8.22 2.7
8.22 2.7
8.22 2.7
8.22 2.7
8.22 2.7
8.22 2.7
9.12 2.7
9.12 2.7
9.12 2.7
9.12 2.7
9.12 2.7
9.12 2.7
9.12 2.7
9.12 2.7
9.12 2.7
9.12 2.7
11.09 2.7
11.09 2.7
11.09 33
11.09 33
11.09 33
11.09 3.3
11.09 33
11.09 3.3
15.59 4.65
15.59 4.65

g

EHRT

Part Number
0600010080125016
0600010080125020
0600010080125025
0600010080125030
0600010080125035
0600010080125040
0600010080125050
0600010080125060
0600010100150020
0600010100150025
0600010100150030
0600010100150035

WRHEFR7S BIENTE

g

M
M8x16
M8x 20
M8x25
M8x30
M8x 35
M8 x40
M8x50
M8x60
M10x20
M10x25
M10x30
M10x35

Size (mm)
DK K
15.59 4.65
15.59 4.65
15.59 4.65
15.59 4.65
15.59 4.65
15.59 4.65
15.59 4.65
15.59 4.65
18.04 5
18.04 5
18.04 5
18.04 5



	Sheet2

